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PDE

A,B, ...

,G

AU, (X, )+ Bu,, +Cu (X, y)+ DU, (X y)+ Eu, (x.y)+ Fu(x,y)+ G =0-( )

U, +(sinu), =0

ZU,, (X, Y) + Xy U, (X, Y) + e u(x, y) =10

u(x,y,z)

Boundary value

Initional Value Problems

Homogenus
PDE
Fix L
Vxcraxt) y
H(v,t)=H(x+Ax,t) > H(x,t)=cte vt 0<x<I
g V(X + AX,t) fan = —v(x,t)
H “H

A,B G
U A,B,....G
U
U
) Problems
PDE
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tana = Y, (X + AX,t) tan § =y, (x,~t)
y AF =ma

= V(X + AX,t)-V(x,t) = 5.As.y, (X,1)

AX = As = vix+ AX’AtX) vxt) _ =5y, (xt)

; ( y, (x+Ax,t)- yx(Xat)] =5y, (xt)

AX

Hy o (6,8) = 5y, () = B2y, (6 1) =y (x.t)
H 10

Yiu (X’t) = % Y (X’t)

t X y

()

5 Axy, (x, )= H(y, (x + Ax),t) -y, (x,t) + FAX

()

gl = LA b)) 1
Vi (Xa y): % Y xx (X,t)+ %

S Axy, (x,t)=H(y, (x + Ax,t) -y, (x,t)) - g A.x

Xy)=H/4y.(xt)-g
()

AS
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f(x)
y(0,t)=0
y(£,t)=0
y(x,0)=0
Yi (X,O) = g(X)
X g(x)
y(X,t).
¢ X
X + AX X +AX

F(X,t)
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F= y(x+A§<V§— y(x,t)

F(xt)= i(y(x + A1) = y(x,t)
F(x,t)= AEy (x,t)
F(x,t)=—Ey, (x,t)

F(x + Ax,t)= AEy (x + Axt)

()

F(x + AX,t) - F(x,t) = 5AAXy, (x,t)

AE (y(x + AX,t) - y(x,t)j

AX

= Yu (X’t)=

E
Yi (X’t) = g Y (X’t)

Z, (% y.0) =4 (2, (6 y,0)+ 2, (x y.1))

t

t X,y
du
7=
. ; ( ) ZYy X
u
¢1:_K_

¢ ()
()
()
u(x,y,zt) R
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\\DM
() y
du
¢2:_Kd_y
du
¢3:_KE
J=¢ 144, I+, K
J:_k(a_um_uaﬁ_u,zj
ox oy 0z
J = —k(Au)
$g=J.n
. yz
b= j=-kg
; |
|1:JJJR05UdV ( )
|, =[], J.dA
1, =11 (divj )v = [[[v(3)dv ’
1, =111, —kv.ddv = [[[-kv?udv
=1, ol )
I, =1, =0=[]].(5(u,)—ku(vu))dv =0
U R
Su, = ku(v,)=0= AU, = kV2u
oup fu . du
vu(x,y,t,z v = Pl ayJ + =
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u1:M1f+M2]+M3IQ

UM=—9h£q+gk(M|+Mj+Mﬁj
ox oy oz

o°u o0*u J’u
K + + =ou . (x,y,z,t
(6x2 ay? 622J (o y.2.1)

2 2 2
u(x,y, Z’t)+ 0% (x, Y, Z’t)+ o%u(x,t, z,t)

ox’* oy’ oz°
o
Uy +Uy, +U,, :Eut
PDE PDE
P DE
?Vzu:gut V?= 82+ 82+ az
k oX~ oy~ OX
du
K—|= 4,
dn
du _
dx
KA hr, - )

dn

oM, oM, oM,
L+ +

OX oy 0z

0 ou

t
I(a(xw)

E 2l
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5 S ou d’u  o*u S adu
Viu=— =—
k ot ox* oy® k ot
( d
u
k—=0 u,(x,0,t)=0 0<x<l
) koo (o) <x<
o<x<l, y=0
du
) kd_X‘:¢0 KUX(O,y,t)=¢O y>0
x=0, y>0
du
) k&\: h(o,u)  KUx(0,y,t)=—h(u) y>o0)
Xx=e, y>0
u(x,y,0)=f(x)
V2u=0%u/ét?
u Vau=6(u,x,Y,zt)
C,u, —C,u, R C,,C u,,u,
u, s U,
e{clul + Czuz}: Cle{ul}+ Cze{uz} e

e{u}=[udt - efc,u, +c,u,}=J(c,u, +c,u, )du =
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Jc,u,du+Jc,u,du=c, Ju,du+c, Ju,du

ef0}=0

~+B +c—+D—+E—+Fu
OX oxy oy X oy

e . G=0

e=A +B +C +D—+E—+F
0 oy

. Uu=cu, +u,
efcu, +u,}=ce{u }+efu,}=G
u,(x,t)=Ku, (x,t)

2 2 2
o-u o°u o°u ou ou (x,y)zG(x,y)

u
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u,(0,t)=0
u,(c,t)=0
2 _2
] _ _nzk N7ziX
W)=Y Uy exp[ x t]cos—c
_[-n*7%k —n’z’k nzx
ut(x,t)— = exp . t COST
-n’z’ -n’z’ n
uxx = > exXp 2 kt COS ——
C c c
U=cC,U, +CU, +...+C,U,
Au,, +Bu, +Cu, +Du, +Eu, + Fu=G
X,y,t F A
B* -4Ac=0 H yperbolic
.(Parabolic). B®-4Ac>0
u
u
Ku +3—u
utt9ut n (
X= pcos¢ p=+4x>+y’
= psin _ y
y=psing ¢—Arctan(4j

=

ku, =u(x,t)

F-A
B> -4Ac>0
Ecllipite
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F=v p2 Tz H:Arctan(%)
p=¢

X = rSin 6Cos ¢
y = rSin 6Sin ¢ «
z =rCos 6

p =rSin 6

¢ =9 €
z =rCos 0
r=yx>+y’+z*

¢ = ArcTan % €«

x> +y?
z=ArcTan ——
z

o’u  0'u  d’u

ox> +ay2 +622 0

Viu=0

u(p,¢,2) u

ou ou 8p+8u 8¢+8u 0z

ox op ox 094 ox 0z ox

p'p p g o p o

U X au[ —y }_aux Sing ou _ ., Sing ou

S . = — =
opx2+y? 0\ X +y’

a5
ox>  ox\ ox

u
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= Cos ¢(—

0 Sing

p

=)
)

Sing au

=)

ou Sing du

ap

ap

0

= Cos(—
0

p

S|n¢
P

|

2

o°u Si

ou  Sing ou

( Cos
o¢

n3 o%u

u
=C C —
5 os;z{ 0S¢ 02 0

_Cosg ou
p 09

op*
o%u

oudg

Si n¢— + Cos¢
op

o*u

CosgSing 0“u

)
|

p Ogop
Sing 0°u
p o0¢’

N CosgSing ou

p> O¢

=Cos?
¢ P

SingCos¢ 0°u

N SingCos ¢ ou

H
+S|n gou

P Odop p dp

Sln ¢8u:>

2

p 0¢op

p 2S|n¢Cos¢au _ 2CosfSing &*u

p

o

p 04’

Sln pou Sin‘g 6°u

op’ p> ¢ p

2

Cosg au o°u
p 8¢

s¢a—“

2 H 2
,,0°U +ZS|n¢Cos¢ o°u +Cos

opp

-5l )

¢ 0°u

pap p* o¢°

o*u .
oy

5)

2
+Cos ¢ ou

Cos¢ 0
o¢

op’ p  dpog p’
_ 2sin ¢Cosg¢ ou

p>  o¢

Viu=0

0z’

U

Viu=0—>

0z

o’u
0z°

o%u
oy’

Pap A

o%u
+

ox? =0=

2u

o¢*

6 u_
822

o¢’ p op
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op* op 0¢ oz’
Z

,0%u  ou d'p , 0% _ 0 U _,,

op> " op o¢’  az’ oz’

o T oyt O<y<2z

( )
2 2 2
Vzu:():>6u+28u 1 o'u 1 0°u Cosddu

——+ + + =0
or* ror r’Sin‘gog> r*og>  r* 00

V2u:%(ru)rr+ ! Uy, + ! (u6sing),

r’sin’o r’sing
(u+ru )—>(u, +u, +ru,)
| i
Viu :r—2(r2ur)r toagig et rZSin9(u98|n6?)0 g

1 1 )
rr—z(rzur)r +m(u98m9)9 =VZ2u

(Sepration .

of Vauiable)
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KUXX(X,t)ZUt(X,t) O<x<c t>0

Ku,, (X,t) =u,(X,t)
u,(0,t)=0
u.(c,t)y=0

u(x,0) = f(x)

u(x,0) = f(x)

U=> ccU,

f(x)
R u,
v
(
u(x,t)
€ 1
€
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1 XJr(t)=Xx"cJr(t)

=T(t)=0,X"(0)=0,X"(c)=0

0

X'(x) = Ax(x)=0 T'(t)-kit(t)=0= TT'(t) = kA = CosT (t) = kAt + CosA
X(0)=0 ©
X'(c)=0 :>Cosm=k;tt:>m:e“t =T(t)= Ae*
A A

DA>0 X' (X)-AX(0)=0= X(x)=ae™ +a,e™ 1>0

vas o A=a’ = X"(x)=a’ x(x)= X(x)= Ae™ + Be™

X (x)= Aae®™ — Bae ™

{ X'(0)=0=A-B=0
= A=0,B=0

X'(c)=0= Ae* —Be™ =0
A>0 u (x,t) X(x)
DA=0 X"(x)=0= X(x)=Ax+B
X'(0)=0=A=0

X'(c)=0=A=0
X(x)=B T(t)=A u(x,t)=X(x)T(t)- AB
u(x,0)= f(x)= AB = f(x)

u(x,t)=f f(x)
3)A<0 X "(x)=-a>X(x)= X(x)= ACosax + BSinax

X'(0)= 0 = —AaSinac + aBCosax = 0 =0 B=0
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X '(0)= 0= —AaSinac = 0 = Sinac = 0 —» ac = nz = a =~

c
(x) Cos[n% xj n=0_1,...
2
T('[)Z ekt — e—kazt _ —k(n(;l' ]’[ n=0.l1,

ku, =u, u,
U=ianun(x,t)
n=1
2_2
(xt)=X(xJT(t)=e™ ncf +Cos n::zx
—kn nzx
un(x,t)= > Cos( . j n=0,L,...
c
Za e © Cos%
a‘n
u(x,0)= f(x)
ZanCosn—: (x)
1
nmx
Cos 1%
f (%) > a,Cos .
an
COS—dX——S”]%:O {0 n:1-2, ........
c nrz c c n=0

[ 7iX Nz
C ———c M2 ax =1/ ([ c L cos(n—m)"~ |q
j 05— Cos— —dx = /!( os(n+m)C +Cos(n—m) - j X

= n,mn,m n=12,...... 0 m=#n
m=12,... % n=0
ZanCOS%: f(x)=a, +a1Cos%+a2C052—ﬂX+ ......... +a Cos 2 = £(x)

n=0 C C Cc C
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c 0
aoj.dx+a1j.Cos%dx+ ....... Fo :_C[f(x)dx
0 0 c 0
= f Jdx = a, =/J‘
( ) Cos%ﬂ a,
c

a jCos—dx+a ICos—Cos—dx+ ...........
c c c

nx X
J' 0s . (x)dx a,é J' (x)cCos c X

=%JZ f(x)Cos%dx

:/j Cos—dx vn=12,........
0

f(x)=10x ¢ =10x

n’z?

u(x,t):iane © CosX
n=0 C

el ol ud , L

B e

aoz%OJZ‘IOxdx a, _/0 xﬁos—dx

10
a, = 505w i a, = %OIIOXCosnTﬂde
0

lo_ js n—dx]

a—/oijos xdx —/O[UIO n;zx

g 3 =0 200
L’ o —— — n —_—
24 a, =_% - A n2z2 (( 1) 1)
n-z
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s N 200
_/O(( j 100]:>an :W(Cosnz—l)

200 N —-n’*z’k nzx
t)=50 - -1 tC
(X +Z;‘n27z'2( ) )9 10 08 10

f (x)
Sepration od Voualley
‘PDE
PDE
Uu(xy)=0 u(0y)=y*  ully)=1
0<x<l —ow<y<o

uxx(X9 y):O:> UX(X, y):¢(y) :>U(X, y):¢(y)x+ hy
u(0,y)=y*=hly) =y*  (g(y)x0)

u(l,y)=¢(y)+h(y)=1=¢(y)=1-y’
u(x,y)= (1 - yz)x +y?
azyXX(X,t): Yit (X’t)

y(x,0)=h(x) —0< X<
y,(x,0)=0 t>0

u=x-+at
v=x-—at €.
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y_y oy
ot ou ot ov ot

(x,t)

(v,u)

y(x,t) > y(u,v)

2 2
4 oy =0=> oy =0=
ouov ouov

y(u.v)=f(u)+g(v)

vy (u,v)=a(v)

—.a+— -2 _ a2~
ou ov ou ov
2 2
ot> atlat) ot “eul au o ov ovl“ou ov
LY _ 00y 0%y 0%y 507

2 P 2

ot ou ouov ouov ou

=a’ 52y_ a’ o azﬂ

ou’ OUovV ov?
-4
ox>  ox\ ox
Yy _oy au+5'y ov_oy oy
OX Ou OX oV 0X oOu ov
2 2 2 2
a_zyzi[ﬂ+ﬂj+i(ﬂ+gj:a V2, 2y
ox~ oOx\ox ov) oulou ov) ou ouov  du

PDE

2 2 2 2 2 2
a26y+8y+6y:28y_2ay+ay

ou® ouov  ou’ ou®*  ouev  ou’

y,(u,v)=h(u)
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B0
X+at=u
X—at=v
y(x,t)= f(x,at)+ g(x —at)
af '(x)-ag(x)=0= f'(x)=g'(x)
f(x)=g(x)+kt ¢
2f(x)=h(x)+c= f(x)=%(h(x)+ c)
2g(x)=h(x)-c= g(x)= ¥ (h(x)-c)
we o y(xt)= f(x,at)+ g(x—at)= %(h(a +at)+ h(x(— at))
Vi (X’t):azyxx (X’t)
y(o,t)=y(c,t)=0 1
y(%.0)= f(x) Y (x0)=0 3
y(x.t)=X(xJT ()
2/2
. () _ 1 T7() _
X(xJT"(t)=a’ X "(x)JT (t)= 0@ T _(22
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X(t)= Ae™ +Be™
T(t)=Ce*" + De ™"

1:>X(0)=0:>A+B:0 = A=0,B=0
B
)=0= 06058 XK= axsB OF
)/1 0=
T”(t):O T(t)=Ct+D
. [X(0)=0=B=0
. _A_! &
el {X(c):O:A:O
11<0 X "(x)=—-2*X(x)= X(x)= B Sinix + ACos.x
¢ T"(t)=—a24*T(t)= T(t)=C Sinad + +D Cost
15 X(0)=0= A=0 xn(x):sm%x
X(c)=0:>BSin/IC=O:>/1C=n7r:>ﬂ=nTﬁ V. =0,,...

+ %

T.(t)=csin 2”1 ypcos 27

3. X(XJT'(B=0 ¢

+*=0=>T/(0)=0=C

Tn(t)=Cos anTﬂC

b : Xn(x):Sinr]T]ZX , Tn(t)=CosaTﬂXt
e Y, (x,t)=Sin X cos 2%
c c
o b, Sln—Cos—t
- n zx z c
> b,Cos
- C
y(x,1)
( t ). fx) . g(x,0)~f(x)

y(x,0)= ibnSinnTﬂX = f(x)

n=l1

J'Sln—dx_——Cosn—7ZX :——(Cosnﬂ 1) = —((—1)n+1+1)=

C nr cy nz Nz
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_[Sln

n X
——3Sin

> [ b,sin .

n=1 0

% n=m

ol

nN#m

Smn_ﬂx anSin—nZX = (X)
C
m zXx K . mxzX
dx = | f (x)Sin dx
C I ( ) C

0

jf(xbln—:b —yj' Sln—dx
f(x)=02x  0<x<10 f(x)
f(x)=-0.2x+4 10 < x<20

10

ICOS

Y| o[ -2 2

%dXB
20

b, —yoj Sln—dx /OD/OXSm—dXJrJ.( / +4)Sinr]2—7gxdx

[ e ||

20 nx
+ J.—xSln—dx + 4S|n—0dx

10
(— Cos n_nxj‘ 20
20

20
nrx

20

nrz

CaX |,
Cos—

20

4x20
nmx

20
) . Nnax
_AOI.[ xSin 20 dx +

[a,b] f(x)
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-1 —1Mx<-0.5
f(x)=<a —-0.5<x<0.5
I 05<x<1

(c,d)c(a,b) (c,d)

Xm XM +1

jjf f(x)dx = j f(x)ax + I f(x)dX+......... + f f (x)dx

c

£ (x)
[a.b] )

f :ao N C %
(X) AJF"Z:;a” 05—

C 0 f(x)

. O<x<np f(x)
f(x)= y C nm
(x) A+nzl:an 05—

an

o n w 7
a%+n2=;anCosnX= f(x)ja%idx+2anocosnxdx:

n=l1

T f(x)dx

0
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_a,
=3/ xr0= j

x)dx = a, =/I

n
/ICos mxdx+2a ICos nx Cos mx dx = If(x)Cos mx dx

Yo s
Yo s

f(x)

[ n
J' (Cos(n —m)x — Cos(nn + m)x)dx :I f (x)Cos mx dx

[ n
J' (Cos(n —m)x — Cos(nn + m)x)dx :I f (x)Cos mx dx

%]Z f (x)Cos nx dx

[ 0.c]

- . Nzax
= °b,sin "%
n-1 C

;ibnSin%

'[Sln—Sln—dx I

C C

Sln—dx
c

mzX

o556 AR T e o

b Sln—:> f
Z

T

Cc

(0.7)

Zb Sin zx

/j Smnxdx——Cosan /ICosnxdx

O

( n+1

i )n+1

n=1

s J-(E) g 20

2 Sinnx =2SinX — Sin2x + % Sin3x............

f(x)
n
b,
f(x)
f(x)=x
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QJ

ibnSinnx Sin nx
' . f(x)
f(X)zX [0,75&]& > b,Sinnx
f(x)= a% + " anCosnx
( ) RN -
(-c <) (%)
f(x)=h(x)+ g(x) < g(-x)=-g(x) h(-x)=h(x)
X_f(x)+f(—x) X_f(x)—f(—x)
0= 2 (x)
(=c <) h(x)

_a,/ . % X Spsint® _
f(x) A+ZanCos - +an8m - x e(-c,c)
( c c) f(x)

- / X) Cos ¥ gx = A { x)Cos—dxtj X)COSnTﬂXdX}
{ x)Cos—dx+j x)Cos—dx}—/j x)Cos—dx
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- L
f(x)= a%+ Zw: [anCos nZX + b Sin nZXJ

1

a, = %j f (x)Cos %dx b, = %jcf(x)Sin %dx

f(x)= a%+ ZN: (a, Cos nx + b, Sin nx)
n=1
a, :%J f(x)Cos nxdx b, —/ I f (x)Sin mdx

/ I 1x Cosnxdx= / Slnnx'[ = nﬂ(Sln— +Si nTJ:%ﬂxzsinn%
2

A
a b, : I/ fsm nx dx =0
-5

x):1+i(%ﬂ8inn%jCosnx jldx:l

+i (a,Cosnxdx + b, Sinnx)

1
2 =

a, :lff(x)Cosnxdx , :—J' x)Sin nx dx
ﬂ-*ﬂ'
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( 7.7) f(x)= x

f(x)=x f(x) = a% + a, Cosnx+ b, Sinnx

a, = %_]i f (x)Cos nx dx b, = %j f (x)Cos nx dx

a, =0

f(x)
b, =%Tx8in X dx =%]€Sin nx dx :%(;—XCOSX T+]

1 T _2 —71(—1)” 1 . pa _2(_1)n+1
+4JACOS nxdx_AjT+o+AZSmnx I

o0

n+1
f(x)=> %Sin nx
n=1

o0

f(x)= ;1 &sm nx

n
=2(Sinx—%Sin2x+%8in3x—%8in4x+ ......... )
f XAl
F(—7Z’)=0 F(ﬂ):O

- f
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: N
Sy(x)= a% +"a, Cosnx
%ISN(X)COS nx = a, ”:
0 Sy (x)=% a_Cosn
N(X) 4"'; ,C0snx

277 (s (x)) ox
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(f. £)=|f| 20—)”1‘”:Uf2(x)dx]
(f,g)=0=f+g )

- o = [(f - g)ox

(f,g)=1= f

<lPi(X,\Pj(X))>:%<‘PiLPj >=5(i.J) g<x<c

:%/E ) ¢n(x)
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2)sin (xsin 0 )= nf;l(l— (- 1) )y, (x)sin ¢
y2,(x)= %TSin (xSin ¢ )Sin 2x — 1)pd ¢

) yn(x):%jiCos (ng — xSin ¢ )¢
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